Agenda Item Number

\_60

DATE August 13, 2012

PUBLIC HEARING, APPROVING PLANS, SPECIFICATIONS, FORM OF CONTRACT DOCUMENTS, AND ENGINEER'S ESTIMATE ON 2012 EXPANDED STREET RESURFACING PROGRAM - CONTRACT 2; RECEIVE AND FILE BIDS; AND DESIGNATION OF LOWEST RESPONSIVE, RESPONSIBLE BIDDER AS OMG MIDWEST, INC. D/B/A DES MOINES ASPHALT & PAVING, JAMES GAUGER, PRESIDENT, \$1,586,379.40

WHEREAS, on July 9, 2012, under Roll Call No. 12-1072, plans, specifications, form of contract documents, and Engineer's estimate of construction cost were filed with the City Clerk, for the construction of the following improvement:

2012 Expanded Street Resurfacing Program - Contract 2, 06-2012-004

The improvement includes scarification of existing asphalt streets, furnish and place hot mix asphalt, and furnish and place pavement markings, and other incidental items; in accordance with the contract documents, including Plan File Nos. 546-117/147, at the following locations in Des Moines, Iowa:

- •Bell Avenue Fleur Drive to S.W. 30th Street
- •6th Avenue Day Street to University Avenue
- •Acension Avenue 6th Avenue to 7th Street
- •7th Street Day Street to University Avenue
- •56th Street P.C.C. North of I-235 to University Avenue
- •48th Street Franklin Avenue to Hickman Road
- •Madison Avenue Lower Beaver Road to Beaver Avenue
- •Clark Street 2nd Avenue to 6th Avenue
- •Saylor Road E. Jefferson Avenue to E. Sheridan Avenue
- •Guthrie Avenue Glenbrook Drive to Dixon Street
- •Guthrie Avenue E. 29th Street to Hubbell Avenue
- •Des Moines Street E. 9th Street to E 12th Street
- •Des Moines Street E. 14th Street to E. 15th Street
- •Dean Avenue E. 24th Street to E. 30th Street

WHEREAS, notice of the hearing on the plans, specifications, form of contract documents, and Engineer's estimate of construction cost was published as required by law.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF DES MOINES, IOWA: That the hearing on the plans, specifications, form of contract documents, and Engineer's estimate of construction cost for said improvement be closed; and that said plans, specifications, form of contract documents, and Engineer's estimate of construction cost are hereby approved as the plans, specifications, form of contract documents, and Engineer's estimate of construction cost for said improvement.

1

06-2012-004

$\overline{}$	
$\boldsymbol{\wedge}$	

## **Roll Call Number**

Agenda Item Number

DATE August 13, 2012

BE IT FURTHER RESOLVED: That sealed bids for said improvement were submitted by the following bidders:

OMG Midwest, Inc. d/b/a Des Moines Asphalt & Paving

Des Moines, IA

which were received and opened at a public meeting presided over by the Engineer in the City Council Chambers, 2nd Floor, City Hall, 400 Robert D. Ray Drive, Des Moines, Iowa at 11:00 a.m. on July 31, 2012. Said bids and the attached tabulation of bids for said improvement be and are hereby received and filed.

BE IT FURTHER RESOLVED: That the Des Moines City Engineer, as the Engineer, has determined that the lowest responsive, responsible bid for the construction of said improvement was submitted by OMG Midwest. Inc. d/b/a Des Moines Asphalt & Paving, James Gauger, President, P.O. Box 3365, Des Moines, IA, 50316-0365 in the amount of \$1,586,379.40, and said bid be and the same is hereby accepted.

BE IT FURTHER RESOLVED: That the bid security of the unsuccessful bidders be and is hereby authorized and directed to be returned.

BE IT FURTHER RESOLVED: That the Engineer is hereby directed to secure execution by the lowest responsible, responsive Bidder and its surety of the contract documents in the form heretofore approved by this Council; that the Engineer is directed to thereafter present said contract documents to this Council for approval and authorization to the Mayor to sign; and that no contract shall be deemed to exist between the City of Des Moines and said Bidder until said contract has been executed by the Bidder, and shall have been approved by this Council and executed by the Mayor and attested to by the City Clerk.

(City Council Communication Number 12.430 attached.)

to adopt. Moved by \_\_\_\_

FORM APPROVED:

**FUNDS AVAILABLE** 

Kathleen Vanderpool

**Deputy City Attorney** 

Scott E. Sanders Des Moines Finance Director

Funding Source: 2012-2013 CIP, Page Street - 40, Special City-wide Street Improvements, STR217, Being: Gaming Monies

06-2012-004

2

	<b>A</b>	
7		
	_	

## **Roll Call Number**

Agenda Item Number

60

DATE August 13, 2012

COUNCIL ACTION	YEAS	NAYS	PASS	ABSENT
COWNIE				
COLEMAN				
GRIESS				
HENSLEY				
MAHAFFEY				
MEYER				
MOORE				
TOTAL				

MOTION CARRIED

APPROVED

I, Diane Rauh, City Clerk of said City Council, hereby certify that at a meeting of the City Council, held on the above date, among other proceedings the above was adopted.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my seal the day and year first above written.

Mayor

City Clerk

- Bell Avenue Fleur Dr to SW 30th St
- 2 6th Avenue Day St to University Ave 3 Acension Avenue - 6th Ave to 7th St
- 4 7th Street Day St to University Ave
- 5 56th Street PCC North of I-235 to University Ave
- 6 48th Street Franklin Ave to Hickman Rd
- 7 Madison Avenue Lower Beaver Rd to Beaver Ave
- 8 Clark Street 2nd Ave to 6th Ave
- 9 Saylor Road E Jefferson Ave to E Sheridan Ave
- 10 Guthrie Avenue Glenbrook Dr to Dixon St
- 11 Guthrie Avenue E 29th St to Hubbell Ave
- 12 Des Moines Street E 9th St to E 12th St
- 13 Des Moines Street E 14th St to E 15th St
- 14 Dean Avenue E 24th St to E 30th St

2012 EXPANDED STREET RESURFACING PROGRAM - CONTRACT 2
ACTIVITY I.D. 06-2012-004

71\ENG\Design\@6\2012\004\Drawings\Loc\_Map\LOC\_MAP.DGN 22-JUN-2012 13:42

DEPARTMENT OF ENGINEERING CITY OF DES MOINES, IOWA

Activity ID 06-2012-004 IDOT Project No: None

The Country and Property   The Country   The Country and Property   The Country and Property   The Country	APPROVED BY R. De Goot	Bid Date: 07/31/12	Bid Date: 07/31/12		OMG Mi Des Moines A Anken	OMG Midwest dba Des Moines Asphalt&Paving Ankeny, Iowa	CONTRACTOR CITY	ACTOR Y	CONTE	CONTRACTOR CITY
Comparint	FACING PROGRAM - CONTI	ACT 2			BID SE 10% B	CURITY id Bond	BID SEC	URITY	BID SE	CURITY
Comparint	ESTIMATE				BID	RICE	BID PF	RICE	BID	PRICE
Community   Prince   Amount   Prince			LIND		UNIT		TIND		LIND	
825-0 700 828-270.00 8250 TON 855-00.00 8250 TON 857-00.00 8250 TON 85		QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
8250 TON 850 SE225500 SE225000 SE22500 SE225		5.14 MILE	\$5,500.00	\$28,270.00	\$5,150.00	\$26,471.00				
6550 TON 850 0 8572,250 00 8527,00.00  1 LS \$10,000 0 \$10,000 0 \$10,000 0 1 15 0 10 10 10 10 10 10 10 10 10 10 10 10 1		80296 SY	\$2.50	\$200,740.00	\$2.50	\$200,740.00				
8820 0 850,700 0 9 10 10 10 10 10 10 10 10 10 10 10 10 10		0550 TON	\$95.00	\$622,250.00	\$82.00	\$537,100.00				
20 EACH \$250.00 51,000.00 \$270.00 0 \$2,000.00			\$97.00	\$615,950.00	\$82.00	\$520,700.00				
30.500 0 \$270.00 \$3.200.00			\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00				
10 EACH		30 EACH	\$250.00	\$7,500.00	\$270.00	\$8,100.00				
10 EACH  \$250.00		10 EACH	\$300.00	\$3,000.00	\$325.00	\$3,250.00				
156 SY 5100.00 \$15,000.00 \$75.00 \$11,250.00 \$12,000.00 \$75.00 \$11,250.00 \$12,000.00 \$12,		TO TO	\$250.00	\$2,750.00	\$250.00	\$2,500.00				
3 EACH \$4,000.00 \$12,000.00 \$13,500.00 \$21,500.00 \$33,59 STA \$1200.00 \$1,000.00 \$1,000.00 \$1,000.00 \$31,000.00		150 SY	\$100.00	\$15,000,00	\$75.00	\$11,250.00				
38.5 STA \$6.000.00 \$18,000.00 \$7,000.00 \$21,000.00 2.8 EACH \$6.000.00 \$1,86.000.00 \$7,000.00 8.5.5 STA \$150.00 \$1,2825.00 \$753.00 8.5.5 STA \$150.00 \$1,400.00 \$2250.00 \$1,750.00 127.5 STA \$375.00 \$1,400.00 \$2250.00 \$1,750.00 12.3 STA \$375.00 \$1,400.00 \$2250.00 \$1,750.00 8.5 STA \$375.00 \$2,100.00 \$2285.00 \$1,700.00 8.5 STA \$355.00 \$2,100.00 \$2285.00 \$1,700.00 8.5 STA \$355.00 \$2,902.50 7 EACH \$1,000.00 \$5,000.00 \$1,000.00 2.1 EACH \$1,000.00 \$5,000.00 \$1,000.00 2.2 SACH \$1,000.00 \$2,000.00 \$25,000.00 2.3 STA \$350.00 \$2,100.00 \$25,000.00 2.4 SACH \$1,000.00 \$2,000.00 \$25,000.00 2.5 EACH \$1,000.00 \$2,000.00 \$2,000.00 \$2,000.00 2.5 EACH \$1,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2		3 EACH	\$4,000.00	\$12,000.00	\$4,500.00	\$13,500.00				
335.9 STA \$20.00 \$6,718.00 \$7,000.00  85.5 STA \$160.00 \$17,80.00 \$7,100.00  85.5 STA \$160.00 \$1,400.00 \$2,500.00  127.5 STA \$375.00 \$1,400.00 \$2,500.00  127.5 STA \$375.00 \$1,400.00 \$2,500.00  12.3 STA \$350.00 \$1,400.00 \$2,500.00  86.5 STA \$350.00 \$2,992.50 \$31,005.00  12.4 STA \$350.00 \$2,992.50 \$31,005.00  12.5 STA \$350.00 \$2,992.50 \$31,005.00  13.5 \$40,000.00 \$35,000.00 \$35,000.00  14.5 \$40,000.00 \$30,400.00 \$35,000.00  15.5 ST, \$30,000 \$2,902.00 \$30,400.00  16.5 ST, \$30,000 \$30,400.00 \$30,400.00  17.5 ST, \$30,000 \$30,400.00 \$30,000.00  18.5 ST, \$30,000 \$30,400.00 \$30,000.00  19.5 ST, \$30,000 \$30,400.00 \$30,000.00  10.5 ST, \$30,000 \$30,400.00 \$30,400.00  10.6 ST, \$30,000		3 EACH	\$6,000.00	\$18,000.00	\$7,000.00	\$21,000.00				
28 EACH \$60.00 \$1,680.00 \$575.00 \$2,100.00  85.5 STA \$160.00 \$1,262.00 \$1,750.00  127.5 STA \$375.00 \$1,400.00 \$2236.00 \$1,750.00  2.3 STA \$375.00 \$1,002.50 \$2280.00 \$1,050.00  2.3 STA \$375.00 \$2,992.50 \$1,050.00  85.5 STA \$350.00 \$2,992.50 \$1,050.00  2.1 EACH \$1,000.00 \$2,000.00 \$1,050.00  2.2 STA \$1,000.00 \$2,000.00 \$1,050.00  2.3 STA \$1,000.00 \$2,000.00 \$1,050.00  2.4 STA \$1,000.00 \$2,000.00 \$1,050.00  2.5 STA \$1,000.00 \$2,000.00 \$1,050.00  2.6 EACH \$1,000.00 \$2,000.00 \$2,000.00  2.7 EACH \$1,000.00 \$2,000.00 \$2,000.00  2.8 \$1,000.00 \$2,000.00 \$2,000.00  2.9 \$1,000.00 \$2,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00  2.0 \$1,000.00 \$2,000.00  2.0 \$1,000.00  2.0	int based	335.9 STA	\$20.00	\$6,718.00	\$21.00	\$7,053.90				
\$150.00 \$12,825.00 \$230.00 \$19,665.00 \$12,000 \$19,000 \$19,000 \$19,000 \$19,000 \$19,000 \$19,000 \$19,000 \$19,000 \$19,000 \$19,000 \$10,000	vent based	28 EACH	\$60.00	\$1,680.00	\$75.00	\$2,100.00				
4       \$200.00       \$1,750.00         \$375.00       \$1,400.00       \$1,750.00         \$375.00       \$1,092.50       \$236.00       \$1,037%         \$350.00       \$2,992.50       \$1,710.00       \$1,710.00         \$350.00       \$2,992.50       \$1,710.00       \$1,710.00         \$350.00       \$2,992.50       \$1,710.00       \$1,710.00         \$1,000.00       \$25,200.00       \$1,425.00       \$1,425.00         \$40,000.00       \$26,500.00       \$26,500.00       \$26,500.00         \$40,000.00       \$26,500.00       \$31,920.00       \$31,920.00         \$51,519.50       \$80,000.00       \$1,352.00       \$1,352.00         \$100.00       \$2,600.00       \$1,352.00       \$1,352.00		85.5 STA	\$150.00	\$12,825.00	\$230.00	\$19,665.00				
\$375.00 \$47,812.50 \$326.00 \$30,090.00 \$475.00 \$1,032.50 \$450.00 \$1,035.00 \$350.00 \$2,100.00 \$285.00 \$1,710.00 \$355.00 \$2,992.50 \$1,710.00 \$41,000.00 \$25,200.00 \$41,050.00 \$400.00 \$25,200.00 \$26,500.00 \$26,500.00 \$400.00 \$30,400.00 \$26,500.00 \$31,920.00 \$400.00 \$30,400.00 \$420.00 \$31,920.00 \$51,519.50 \$60,000.00 \$31,552.00 \$1,770,000.00 \$52.00 \$1,586,379.40 \$10.00 \$2,600.00 \$51,596,379.40 \$10.00 \$2,600.00 \$1,586,379.40 \$10.00 \$2,600.00 \$20,000.00		7 EACH	\$200.00	\$1,400.00	\$250.00	\$1,750.00				
\$475.00 \$1,092.50 \$450.00 \$1,035.00 \$3475.00 \$1,092.50 \$450.00 \$1,005.00 \$285.00 \$1,710.00 \$285.00 \$1,710.00 \$285.00 \$1,710.00 \$2,992.50 \$35.00 \$1,050.00 \$1		127.5 STA	\$375.00	\$47,812.50	\$236.00	\$30,090.00		•		
# \$350.00 \$2,100.00 \$285.00 \$1,710.00 \$355.00 \$2,992.50 \$1,710.00 \$355.00 \$2,992.50 \$1,710.00 \$355.00 \$1,000.00 \$1,0		2.3 STA	\$475.00	\$1,092.50	\$450.00	\$1,035.00				
\$35.00 \$2,992.50 \$35.00 \$2,992.50 H \$100.00 \$700.00 \$1,050.00 H \$1,000.00 \$5,000.00 \$40,000.00 \$26,500.00 \$40,000.00 \$26,500.00 \$40,000.00 \$26,500.00 \$40,000.00 \$26,500.00 \$40,000.00 \$26,500.00 \$51,519.50 \$51,519.50 \$420.00 \$80,000.00 \$51,519.50 \$51,519.50 \$1,352.00 \$1,352.00 \$1,352.00 \$1,586,379.40  Low		6 EACH	\$350.00	\$2,100.00	\$285.00	\$1,710.00				
EACH \$1,000.00 \$700.00 \$1,050.00 EACH \$1,000.00 \$1,050.00 EACH \$1,000.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200.00 \$25,200 \$25,200.00 \$25,200 \$25,000.00		85.5 STA	\$35.00	\$2,992.50	\$35.00	\$2,992.50				
EACH \$1,000.00 \$5,000.00 \$4,125.00 EACH \$1,000.00 \$4,125.00 EACH \$1,200.00 \$25,200.00 \$25,200.00 \$26,500.00 \$26,500.00 \$26,500.00 \$26,500.00 \$26,500.00 \$30,400.00 \$30,400.00 \$30,400.00 \$30,000.00 \$31,920.00 \$31,920.00 \$31,920.00 \$31,519.50 \$5		7 EACH	\$100.00	\$700.00	\$150.00	\$1,050.00				
EACH \$1,200.00 \$25,200.00 \$19,425.00 \$19,425.00 \$10,000.00 \$40,000.00 \$26,500.00 \$26,500.00 \$30,400.00 \$30,400.00 \$30,000.00 \$31,920		5 EACH	\$1,000.00	\$5,000.00	\$825.00	\$4,125.00				
LS \$40,000.00 \$40,000.00 \$26,500.00 \$26,500.00 BAY \$400.00 \$30,400.00 \$34,20.00 \$31,920.00 BAY \$400.00 \$30,400.00 \$420.00 \$31,920.00 BAY \$400.00 \$51,519.50 \$80,000.00 \$1,352.00 \$1,586,379.40 \$0.00 \$1,770,000.00 \$1,586,379.40 \$0.00 BAY \$1,586,379.		EACH	\$1,200.00	\$25,200.00	\$925.00	\$19,425.00				
DAY \$400.00 \$31,920.00  LS \$51,519.50 \$80,000.00 \$80,000.00  EACH \$100.00 \$2,600.00 \$1,352.00  \$1,352.00 \$1,586,379.40  \$1,770,000.00  \$1,586,379.40  Low			\$40,000.00	\$40,000.00	\$26,500.00	\$26,500.00				
LS \$51,519.50 \$51,519.50 \$80,000.00 \$80,000.00    EACH \$100.00 \$2,600.00 \$1,352.00 \$1,352.00    \$1,770,000.00 \$1,586,379.40 \$0.00    Low			\$400.00	\$30,400.00	\$420.00	\$31,920.00				
EACH \$100.00 \$2,600.00 \$1,352.00 \$1,586,379.40 \$0.00  Low		ട	\$51,519.50	\$51,519.50	\$80,000.00	\$80,000.00		-		
\$1,586,379.40 -10.37% Low		26 EACH	\$100.00	\$2,600.00	\$52.00	\$1,352.00				
\$1,586,379.40 -10.37% Low										
-10.37% LOW				\$4 770 000 00		\$1 586 379 40		00		) O#
						-10.37% Low		) )		

